Hardware identification

AT WORK - Box/Box/File Pedestal
Model - AW-50166N - Assembly Instructions

Z2, Caster- 2pcs Z3. Screw 4*12mm- 21pcs

(AW-Caster)

Z1. Caster with lock- 2pcs
(AW-Lock-Caster)

e

Z4. Handle 200mm(Pre-attached) Z5. Bolt 4*25mm(Pre-attached) Z6. Caster- 1pc
- 3pcs(AW-Handle )

Z29. Key-2pcs
(AW-Key1)

<

Z8. Plastic Hangers- 2pcs
(AW-Hanger)

Z7. Sticker (Pre-attached)
- 6pcs (AW-ADHE-COVER2)

-

N

(AW-PHRWBS 4*12mmB)

- 6pcs (AW-RFLAT 4*25mmS)  (AW-L-Caster)

N

J

Congratulations on the purchase of your new Signature Series product!

¢

A\

{

NBF-AW50166N



STEP 1 STEP 3

Z8. Plastic Hangers ~ Z9. Key
-2pcs - 2pcs

Z1. Caster with lock  Z2. Caster Z3. Screw 4*12mm
-2pcs - 2pcs -16pcs

R

STEP 2 COMPLETED

N /
Z3. Screw 4*12mm  Z6. Caster /
- 5pcs -1pc B
= 0|
Lo s
=
\

NBF-AW50166N




